R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, TX-4205

Endura

PR ODUTCT S,

8811 West Market Street
Colfax, NC 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & Ré13 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject o the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.
Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject fo further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Flip Lever)
Astragal detadils (Ultimate Multi-point)
Astragal details (Ultimate Humicane)
Door panel details (flush glazing)
Horizontal cross sections
Vertical cross sections
Frame anchoring

O |IN|v[O | A |WIN

XX

74.44" MAX. FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT (INSWING)
97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

©

INSWING

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

+45.0

-50.0

+35.0

-40.0

OUTSWING

+45.0

-45.0

+35.0

-35.0

0
Z =
So
=
0
oF
.
5=
<
[ ]
> <O
S |2l oy
] 2 =
|
al 9
L |9 se
= x QD
0
3 ol &»
o | E W
o x© 0
x < Q.
(a1 [a I
(/)U')>_.
| ] [
L
[
S
=
<
S
3
=<
| |
49| 2
=
NEES
|| |2
i
=S a
0o
<|E| |
[
=
=Sl=<
Z|o
]
ola
Qla
<<
¥
SR
o<
RN
_lo
NIT|=
oate: 8,/07/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4205

SHEET 1 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOJ aNIging ‘m*'sy 2102 @

- SNOISIAFY
e N o S (3071 903 o) | s Torl | | Ll o
D T—_—— . S41 IS ONWYINOLYY ad3aav| v1/L0/1 | | N | 8
S6SEE 14 OSWIPA 0£Z Xog ‘O°'d \H\h@ "ATEW3SSY ¥0 1dvd [ S47[38N1dv0 Nid TWOVeISY MIN _dav| s1/5/S | z IS 7. N &
*ONI ‘SINVLINSNOD ONIaTINg m < g v_A 2_
o] x|
SZIHOL# "3'd SVXAL VdNAN3 = M "7 g
‘3'd PIWYOS 4 uopuik] :Ag peJdpde.ud sjuswnooq :19Na0¥d W. m W W m M

WOLLOg

7.5"

225" —*‘ —~—

26.0"

175" — |=—

35.5" LATCH

_ _-wN- _-

33.75"
48 Oll
52.0"
60.0"
63.0"
e e e 0 ee— ] )
41.0" DEADBOLT
1.82" '
0.063" ——| [=—
Z
\JL s
Astragal Section

76.0"

WS9°C

93.75"

HARDWARE LOCATIONS

ANCHOR SCREW LOCATIONS

f~—1.75"
7 5II

—
| =
.

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS

dOL

(2)#6-32 X 5/8" MACHINE SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#8 X 1-1/2"
PFH WOOD SCREWS

(2)#6-32 X 5/8" MACHINE SCREWS

Lower Bolt Sleeve - Aluminum
ULTIMATE FLIP LEVER ASTRAGAL

e Aluminum Body

N

Upper Bolt Sleeve - Aluminum

7 'BMP L0-0Zh-X L \tuaLnD\sBuImMeIa\OTY - IAL\su] 4O 3daQ sexa [\LNINVINYId eInpui\sIualD\y



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 3.2

Upper Bolt Sleeve - Aluminum

Upper Latch - Reinf Resin

(4)#8 X 3" PFH WOOD SCREWS

Latch Actuator
Steel

o[ (=

Lower Latch - Reinf Resin

T~

Aluminum Body

———

|

rﬂ

Lower Bolt Sleeve - Aluminum

ULTIMATE MULTI-POINT ASTRAGAL

(2)#8 X 1-1/2"

(2)#6-32 X 5/8" MACHINE SCREWS

Astragal Section

[IT)
3
, § g 0 & o
. [ [TTNTo)
£* B yw
> by OB B+
; LC 2o G
‘: . T £ y d ?_’ L
izie & 35 TR
: §F 5E8 82
iZ Ll - 338 he
O i T RN Zob &b
Sk 5 3R. o
roenst @ - % ;_9 ol
3 % ® o %'6
o .
§ 592 Bp
PFH WOOD SCREWS = = —— = e 82" g8
Eroes = = ool = e | 2 § %
1 | o ()
225" —~| - x éo
33.75" 8
480"
520"
60.0" .
[
a. 63.0" nZ
9‘ 760" § E@
93.75" - ) % . Q§
= S |98
ANCHOR SCREW LOCATIONS I I
Upper Latch Lower Latch 2 =2
% <~
3 SRS
e s ———= BT ol |&
f=—1.75" 175" —] [=— S 5 o e
' ol
7.5" 26.0" |3|jm
35.5" LATCH §
, 41" DEADBOLT 5
Upper/Lower Bolt Actuator Lever - Zinc HARDWARE LOCATIONS <23 -y
(2)#8 X 1-1/2" PFH WOOD SCREWS x| %
==
=
(2)#8 X 1-1/2" PFH WOOD SCREWS S g =
1.82" | £s >
Q2| |x
P E(<
=13
QN
Qo
<|<<
_ olv
S
(2)#6-32 X 5/8" MACHINE SCREWS Q8|5
i BINS
0 -
o~ & ol %
0063 ——|~— = oaTE: 8,/07,/12
) SCAE:  N.T.S.
DWG. BY: JK
él | CHK. BY:  LFS
— DRAWING NO.:
TX—4205

SHEET 3 oF 8

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 4.2

o
B
":“::\:l
Lt
.

-

ScC

HE
F
12
et
:
O
H-
:
1=

SRuRT Y s

PUNCH OUT —\ 355 I
e
=@ s g —> C— o ° o %:.
2-75" i | — 2.50u
3.75" o & g 3.63"
10.75" - 10.50" ——
~—————— 1875 —————— 18.50"
26.75" 26.50"
ANCHOR SCREW LOCATIONS =
5 :
" 2
£ 5 — i | .
< 55" ! 35.5"
<;: 8'-0" ALUMINUM ASTRAGAL ASSEMBLY
By Endura Products
BOLT RETAINERS
| 19.63' ——4) | j ALUMINUM ASTRAGAL
r 4 L | SLIDE BOLT ROD
SLIDE BOLT ROD W ok
MAIL: Steel Aluminum Astragal Assembly
DEADBOLT STRIKE #8 X 3/4" PEH WS
T PLAE k
”
: )
g O 1" )
X | #8X3 PFHWS<

1.78" ‘L—’

ULTIMATE HURRICANE ASTRAGAL

’———’7 1.63"
BOLT RETAINER
MATL: 9-3/4" Aluminum

LATCH STRIKE PLATE

LATCH AND DEADBOLT DETAIL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

ASTRAGAL DETAILS
(ULTIMATE HURRICANE)

PRODUCT:

LFS
Y

REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

—

2

NOJ| DATE

oATE: 8/07/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4205

SHEET 4 oF 8

© zoos R.W. BUILDING CONSULTANTS INC.



"ON|] BANVLINSNOJ aNIiaing ‘m°"y 210z @

2G8LL—4 # NOLVMLSIORN 40 ILVOIHILNFO _ SNOISIASY
SYIINIONT TYNOISS340¥d 40 a¥vVOg SvxaL Gzsmﬂmq\mmabqﬂmz@%mmﬁow%mmE Ag 31vd |ON| 8_
P —— ; ST TIIS_ONILVINOILEY_03aav| v1/20/1 | L || 4|X (2| &
S6SEC 14 ©OUIPA 0ET Xog ‘0'd &@. AIBN3SSV 90 T8vd ['547[39n1dvo Nid Tvovelsy M3N adv| 51/5/s |z |5 7|2, 8| 6
“ONI ‘SINVLINSNOD ONIGTING 2f = g | 5_
© . |5 8|g &
£ZLYOL# "3'd SwXal vanansd - Gl sl x|E &
"3'd JPILIYSS ‘4 UOPUAT  :Ag peupdeld sjuewinooq 1oNaoYd HEIHEE -
ot =
o) )]
4 =
o ¥60 O
i 7 P
Zz ]
[ ) o
e <
N &
(a4 j w
\ O o >
—_— R i —
iz = % 4 gg
o2 = A < Z =9 Njo
a O % . L & T \Nl oL
o)} 3Z oL =
as Sh- g Q
%o z3e
o 5 O
@ o oOg<>
e - b <= —
=
=
2R
s
() =
O
, : o <
S| TTTTTE w
) 0
= o g o
~ L T T 0O%
= = = > o <=
0 E 1%} W E $
S 03 x 035
— -0 < 0=
=) - Ll
(@]
<
| &
2 3 Z =
S L £ < <
5 o= z ks
e o @ " = 84 3§
m, 4 nNu = 2 m
s N
= ! T 3
(§) (L)
ot _
o]
oz
e o
(0% o ~1 [a%
O @) = s e
R o < L [a%4
T} O — L
5 = N I =
n = o E Z
()
=
mw

fiberglass)

(

Door Panel

J

| E 5 }
/
VA
/
X
>
THERMA TRU - Flush Glazed

(WOOD)

\ HINGE STILE

5 = g
S xEZ
5o = = IHOEH "'0'Ta
g 2 b5 XYW .0°6L
N
® o & = IHOIFH TANVd |
a YOO XYW .ST'S6é

1.2"

- 8L 1 —

'S "BMP’£0-70Z-XL\USLIND\SBUIMEIA\OT - IAL\SUI 40 3daQ SexeI\LNINVINYId BINPUI\SIUBID\'Y



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 6.2

1/4" MAX. o5
SHIM SPACE S
EXT. SHEATHING P
2X FRAMING =

(G>=0.42) —\

[ JAMB

#10 X 2.5" PFH WOOD SCREW
—

ENDURA WEATHERSTRIP

(QEBD 450}

INTERIOR

X

DRYWALL /

#8 X 2.5" PFH WOOD SCREW —/

#8 X 3/4" PFH SMS

4" HINGE

/"1 "\ HORIZONTAL CROSS SECTION

W Inswing shown - Outswing also approved

\ #8 X 1" PFH SMS

EXTERIOR

P

-
/

[ ]

/
a

NN, <
A R N .
SO F IO dag N
SRtz il }
S 2 B G
~ s . ¢ Tz G
g N O OLw
s b sipia W .
ﬂ & 2K 3 3
Sulesid i D
o e Fe) o LL w1 &2 -
A i WEL
St T iZiS 9
XA 0 WA
N T
DX S Z Lt
(22 Koo (3‘_;?-‘
Wpyaioo ™

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

[~ DEADBOLT: KWIKSET SIGNATURE SERIES
(980/985)

[~ LATCH: KWIKSET SIGNATURE SERIES
(991)

CORNER PADS (TYP.)

/

(345

\INATAL/

ENDURA WEATHERSTRIP

(QEBD/PE 650)

ULTIMATE FLIP LEVER ASTRAGAL

ULTIMATE MULTIPOINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

/ DOOR PANEL

A\

W

#8 X 3" PFH WS

#8 X 1" PFH WS

/~2"\ HORIZONTAL CROSS SECTION

\&/

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

%)
=
28
< ISL)
o o Z g
R
= S B
L o v
5 =2
< &)
= v
(@]
2 o
)._
el &
o o
U)U)>_
] [
L
5
=
<
e
==
=5
. |
=
gl 12
<3 %2
s >
=D
nlo| W
<t;n:: o=
E«:
Z|la
w
ala
Q|la
<<
o|¥
NNE
Qo<
YN
—lo
N=l=
oatE: 1/07/12
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4205

SHEET 6 ofF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 7.2

— 2X FRAMING
~— - -
H />< (G >=0.42)
EXT. SHEATHING \ = / DRYWALL
8l <L wox2s P
il // WOOD SCREW
1/4" MAX. 1 .
SHMSPACE — ~__ [flil1 i o
ibZa
SHE
DOOR PANEL \ ]
\— HEAD
ENDURA WEATHERSTRIP
(QEBD/PE 650)
A\
EXTERIOR INTERIOR

7“1\ VERTICAL CROSS SECTION

U Outswing shown inswing
also approved

DOOR PANEL
ENDURA DOOR SWEEP \

EXTERIOR /I INTERIOR

ENDURA THRESHOLD

(Z-SERIES INSWING ARTICULATING

SILL w/ PIN CAPTURE)
#ZACL4565 (shown)

(DBK-ZAC)

////%

[T

#10X 2.5" PFH WOOD SCREW

1/4' X 2-3/4" ELCO OR
[TW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

w Inswing configuration

//

INTERIOR 5 50R PANEL EXTERIOR EXTERIOR
ENDURA WEATHERSTRIP \X
(QEBD/PE 650) DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \
ENDURA THRESHOLD

(Z-SERIES OUTSWING)
ZOB4565FN (shown) _\

(DBK-R)
(Z-SERIES INSWING ADJUSTABLE])
ZAI4565FN (shown) \

\
N

&P

d

INTERIOR EXTERIOR 1”\ INTERIOR
DOOR PANEL
ENDURA DOOR SWEEP —\
(DBK-AC)
ENDURA THRESHOLD NN
(Z-SERIES INSWING ARTICULATING) =D
ZAC4565FN (shown) P
-6l

ALV

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

7“2\ VERTICAL CROSS SECTION

LT

#10 X 2.5" PFH WOOD SCREW

1/4"' X 2-3/4"ELCO OR
ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

w Outswing shown

\\7J Inswing configuration

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

7“4\ VERTICAL CROSS SECTION

w Inswing configuration

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

%)

=

o

=

O

iy

%)

= n

5 w0

o o

= o

w O

<

)

.. =

S 5

= S
o
o
o

2>

i[os)

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

NO) DATE

—

2

REVISIONS

oaTE: 8/07/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4205

SHEET 7/ oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 8.2

TOP OF

5.22" FROM
DOOR PANEL

2X framing (by others)

¢

o
(TYP.) :

-

6"

— (TYP)

.
’T* (TYP)
T 1

.

Astragal Strike Plate
@ Head Jamb

lxo J ~

£ o
W
g5
s ke
z Zd
L5 3o
r4 zZZ
| SEEHINGE Tm ] = A § ne
s DETALL 1 [ \ —I * '\\ Z EE
i 5 7]
5 ? #10 X 2.5" PFH DETAIL 1 : AN & ONg EQ
N WOOD SCREW = & : o 9x2 "
S (TYP. @ HEAD Eoé #10 X 2.5" PFH WS B Z8, bu
e : = 2 2456 o
AN RS} DETAIL 1 £ Res £K
2 e 5 2k
S \ sex2 /2 PHws  |E &R B8
R 7 F
o ||
™ | | P W ol =
S ok I'Fril is<gp_ [ =~ #8 X 3/4' PFH WS
SEE HINGE I I — 4" X 4" HINGE -
DETAIL 2 =
£ =
- —— HINGE DETAIL 1 S5 |y S
(=) |
N
\ g
| ; #8 X 2-1/2" PFH WS 2 =
; / 1 % DETAIL 2, 3 OR 4 & // - = &
i} [©]
- \ / ] o | e S S
. ) (i " Lo | {|e 3 —
| 1 #8 X 1" PFH wsé:. [l == #8x3/4"PRHWs 5 5
.\bh n "
7 7 #10 X 2.5 PFH WOOD SCREW i 4 X 4"HINGE Lol
e Ty ) 1/4" X 2-3/4" ELCO OR \ -
’ 2" (TYP.) [TW CONCRETE SCREW HINGE DETAIL 2 x
HINGE JAMB (TYP @ SILL) lii:
© P |
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A')‘(’XC"’OR’NG z\3
CONCRETE (MIN. 3000 Psl) i 0
WOOD (G >=0.42) % _ . HERS
NOTE: This anchor required for D.P. > 40 PSF. =S 1L
53 (@
< E i
i
CONCRETE ANCHOR NOTES: ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW &l
> " n [a] [=)]
1. Concrete anchor locations at the corners may be adjusted to maintain the min. COMPONENT (UNDER CAP) I] T/W ééﬁé 1;‘&%&5\’ LI
edge distance to mortar joints. ) © E ¥
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 1/2" DIA. HOLE 1/2" DIA. HOLE (IN CAP) I NE
maintain the min. edge distance to mortar joints, additional concrete anchors \ BN
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. ® < S -
3. Concrete anchor table: o T =P f & - 2o = ’ AS?:SG}I?-EPIN =[S
s ) COMPONENT | 8/07/12
TOA SCALE:  N.T.S.
e DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4 -
TAPCON® 1/ 1-3/ 2-1/. 3 Outswing Inswing Inswing Inswing e
ELCO NOTE: Max. D.P. = +/- 45 PSF TX—4205
® ‘I/ LU 1-3/ LU 1" 3"
ULTRACON for DETAIL 3 e

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

© 2012 R.W. BUILDING CONSULTANTS INC.



